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#1-5 Multiple Choice (11points each)
and determine its interval of convergence.

1. Find a power series representation for f (x) = 9122
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2. Find the Maclaurin series for f{(X) = X 5 sinx?.
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x3-3x+3tan"1(x)

3. Using series to find the lim,_,q will simplify to finding which of the
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4. Find the first 3terms in the Taylor series for f (x) = cosx centeredat a = ™.
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% 4
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#6-7 True/False (5 points each)
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7. Ifaseries Y,pep Qp is convergent, then the series Ym0 Qn is also absolutely convergent.
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#8-10 Free Response/Partial Credit(#8-9 worth 13 points each, #10 worth 9 points)

8. Write the function as a power series f (x) = In(x Z + 2).
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